ERNRAKROBEEIEHRT — 2 XN—ZXBISH—F 201658250 (k) 5EEME2B

m B1 #5%4m®L (w8 | mEmml - |5 5) o 8
[A&4£] 1% :750,000 @ ~ 2 3#%:180,000 @ ~ 33#&:90,000  ~ 43#&:60,000” 5 3&:45,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N EOE :30. —3-4- . — R RAL (EH)
A PPA YA o4 = 1(3_0)4 3-3-4-4 | 39.4 2 (4336) i
RNNLVTSY BAXHTFSS [seit e ]
s Ak :30. -4-3- 5| — BAEE (FR)
2 6| 777> aNLY i O 56.0 1(73?:;5 %2 198 s ff) SEFE=
L:HVR2T14vy BTATAIXTIR — B RS
N N . [Tz PN : -0-1- - hixiE (ER)
slglg|=arTrneae i 5 L (11.3&3 2-2-1-1 | 39.9 7 <4+926) ek
L:¥r/0704 B:v3bka-3> HO %8k
. N B : 56— — HeEkR (FE)
4 3| Iy vy H— o4 Sh 1(.13/02.)9 5-5-6-5 | 39.6 6 zzgg) %E)IE%
R:A4agR—-5— B:by7OCd v 7Y edis
= 5% 6 | Af—H 1:31.1 7-7-7-6 | 39.4| — 5 436 |/ (FERR)
5 4| 7711 54.0 (1 1/4) (+2) ﬁﬁﬂaﬂg:
L:7A7% B:k-U-FLIL Ralitie]
= S > 6 | TifhEd 1:31.1 8-8-8-8 |39.3| — 4 441 | REHES (ER)
cp2|FL781vay 77 860 (74%) 4 | ) Tr—zbhEvar
LT RIAY T v N> BiRIANEA L R4S
k= B4 | WiskES 1:31.2 9-9-9-9 [39.2| — 9 436 | TEABE— (FEHH)
7lglg| Py h=X 54.0 (7€) R
LNMVTSTY BTUELT 4 T35 NG
=I5 4 6 | TRE 1:31.9 1-1-2-3 |41.1| — 1 492 | #FHEE (EH)
gl11|TLINTHA 56.0 (4) (<) | lIMR=RE
R:TANKSy Y2 BiFLTIZXTYU— FEHIS
. 4 6 | KEA 1:32.2 6-6-5-7 |41.0| — 8 458 | WZxFIZ (EB)
9717 L2 56.0 (1 3/4) (+2) TEKRE
L:d—WRTPYa— BiARINZT 1y b LIHIT7— L
® I—F—@EBIERL
13—7F— 1,8,5,6,3,7,4,2,9
Ao=5"= 1,8,5,6,3,7,4,2,9
G=7"= 8,1,6,5,7,3,4,2,9
41—F— 8,6,1,5,3,4,7,2,9
[ RN
B R 5 320™| | 71K 5-6 240/ | | B = 5-6 670 | | 3EfE 5-6-8 6,110M
# B ) 160/ 5-8 940M B E Ba6 650 EE 5-6-8 20,060
6 170 6-8 1,090H B H 5-6 1,290M
8 880F
ABICOVWTRHDTERERRODLDE, THERLE,




